Ubungsblatt

Normalenform in Scheitelform umwandeln

Aufgaben:

1. yx)=x*-2x-5

2. yx)=x*-3x+1

3. yx)=2x*+x+3

4. yx)=—-x>+3x+2

5. y(x)=-4x’+2x +%

6. yE)=-3x*+2

7. y(x):%xz+4x

8. y(x)=-125x"+2x+1,05
9. y(x)=0,01x"+15x

10.  y(x)=-04x"-0,6x+2
11. y(x)=-Lix*+2&x+2
12.  y(x)=-0.2x>-04x-12
13. yx)=x’-x+0,.25

14. y(x)=-2x>-12x-18
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15. X)=——X" +—X——
y(X) e

Ldsung:

y(x)=(x-1)* -6
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Y(X)—(k—z) 2
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X) = 2(X +=) +2—

y(x) (\+4)+ 2
)= —(x —12) +4%

y(x)=—(x 12) +44
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X)=—4(x —=)’ +=
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y(x)=-3(x-0)"+2

y(x)= %(H 4" -8
y(x)=-1,25(x-0,8)* +1,85
y(x) =0,01(x + 75)* — 56,25
y(x) = -0,4(x +0,75)* + 2,225
y(x)=-L(x-8)?+52
y(x)=-02(x +1)* -1

y(x) =(x-05)’

y(x) =-2(x +3)?




